Name_____________________________________
Worksheet 2.3 B – Mass, Weight on Force Problem Set – Show all 5 Steps for #’s 1-4
1.  How much does a 1,130 kg automobile weigh?

2.  A roller coaster car weighs 9,065 N.  What is the car’s mass?

3.  Neil Armstrong is standing on the Moon.  His mass is 92 kg.  What does he weigh on the Moon?

     (Hint: The gravity on the Moon is 1/6 of that on the Earth.)

4.   Bonus:  Suppose you apply 4.3N of force to a golf ball.  As a result, it accelerates at a rate of 21 m/s2. 
                   What does the golf ball weigh?

5.  Different masses are hung on a spring scale calibrated in newtons:


The force exerted by gravity on 1kg = 10N


The force exerted by gravity on 5 kg = _________ N


The force exerted by gravity on ___________ kg = 100 N

6.  Choose from either mass, weight or volume:


The force due to gravity on an object: ____________________


The amount of space an object occupies: ____________________


The quantity of matter in an object: ________________________

